5’0 Salu.'h‘ov\s t+o E)(aow R

Lo AN =1 AB-BAN
< HA B“ + "BA“ Moﬂz ‘mil
$ A\ANBI SubmaltiplicaliviFy,

‘ <
— £ 2\

1 he above holds Fov— any ol UX gyt

“” SuPPose f(f5><:‘l‘ Le‘to&&i-f(B),

Then Jmatrx voun 1) suc Fhedk

L ¢ ||Bll<piBr*E <f<®>+z"f‘8):§'

-~ -

o trodichon Thn p(2) =

!
a




2 A el =2 A swWAWF L
Sohan sty W deagamal ALy
Qpeof‘m( -{-L\U\) . TL\.Q/V\._

A2 wAT W

4]
Now b 2e€ +hew [N =X 5o there ’i

N '9_ \ :.i“
a(s‘l— DZ&LQD(QL ') ")cbon) SHQ/L\,

Hae T+ /\"’ =DA. Then

*
Ak:"'\/D/\W* =WDW*WAW

l; A
30 AMUUA =¥ A =AY LAY =ATLT
2 AA* s(ATUT)I(A) =S ATA

T | Sy -
S i el ! S ; TN
1; "('4_"!"7’ Mo v o BN ':'X:‘~ < .r* "4

DARE PROPL 2%

S‘) A I‘J horMQ_(l

~—

q. Trfv:'«/ (£ A =zo0. Assume A#G.

Then A= S/»\, (qu ) W we&km

hermihan mone)ﬁ{)qwdmﬁ

= e (0 Ok
“’W\ AT (M’| e \\f\:ﬂ\\)1 1x\
- L DU B
I B‘\“ ] m Axl Al 3#0 T

O HBxNSHxn wv»‘aﬂj Yn y=o.

Fuy
4
PE
54
S&
+F

Wi S

e VI e

(et

Iy VR S~ 5 st |



oL

Fon Ty AEMaACR) FUEOLN) 3 €

UTA'Q - )‘\ 7
\,\k
F "r'
'Ct‘ o) }‘ T, ¥o
6 ~CTr
T~ G
L r )
(8 2 N
A '—‘—A' G>{;\£ :;\L Vt ) %a/
65 ~T: 17T _ [ -T-72 ]
,Z.‘b 6\(,0 — _C‘ o\."] b(c

-G, ‘:02.8}"
o
=2 o ean7
.—’> AL 6‘{0}'} Mc& OJL = —gl—i
V(;:l)-.,k —U =%|Y\.ta‘£:+ﬁ VL:') 'r
L e =t




